1. 2. 3 4 5 6 7. 8. 0. 10
11. 12. 13. 14. 15. 16. 17. 18. 19. 20.
(2%
1.
(A) (B) © (D)
2. (Overide) ? (A) (overload)
(B)
© datic (D)
3. World Wide Wed (A)
(B) W3 World Wide Wed Consortium © CERN (D) Netscape corporation
4. 5 IP ADSL ?
(A) 255.255.255.192 (B)255.255.255.240 (C) 255.255.255.248 (D) 255.255.255.252
5. (host name) IP ?
(A) Tenet (B) DNS (C) sSMTD (D) DHCP
6. Via Mase ?
(A) SET (B) EFT (C) EDI (D) VAN
7. E-mal ?
(A) (®) (D)
8. osl ? (A (B) (© (D)
0. (A) MAC 0 (B) MAC
© 1P MAC (D)MAC /
10. 172.16.8.159 255.255.255.192 ? (A)172.16.255.255 (B)172.16.8.127 (C)172.16.8.191
(D)172.16.8.255
11. ?(A)SSL (B)CA (C)PKI (D)MDU
12 TCP/IP ON ?(A) (B) (© (D)
13 ?(A) (B) (©) (D)
14 ? (A)Oracle (B)Microsoft Access (C)PHP (D)MySQL
15 ? (A)C (B)Pascd (C)Visud Basic.NET (D)LISP
16 (X+Y)+Z=X+(Y+2) ?(A) (B) (© (D)
17 ?(A)1010101 (B)0101010 (C)1010000 (D)0000101
18 ?(A) MODEM (B)ROUTER (C)HUB (D) REPEATER
19 ?(A) (packing) (B) (polymorphism) (C) (overloading) (D)
(inheritance)
20 telnet (port) ?(A)21 (B)23 (C) 25 (D)53




1. D (5% (2

2. ( Xy.,Z XY, Z )
DOFXY,2=xty)Z +X Yy z 6% @HFHXY,2=xYy +yZ +zX

3. 25, 32,58, 11, 64, 45 (1) Shell Sort (4 )

(5%)

(5%)

(2)Heap Sort (6 )

4. A+(B+CxD) ExF (5%)
5 AB A 10ns, CPI(clock cycle perinstruction) 3 B CPI 2
B B (clock rate)
(10%)
6.. (Sales, Customers, Details, Products) Sales Customers
Detals Products SQL (15%)
1. ID=chna, name= , Email=mis@mail.edu.tw. 2. 2005/4/30
()
Sales Customers Details Products
ID CID ID ID PID
Data CName PID PName
CID ID Emal Quantity Price




70

30

functiond group

7-11

task group

(15%)

(20%)

(15%)

(20%)



2.
( ) 1 2
20 mmHg
SS MS F
1 1611.857 1611.857 9.086168 0.00745
18 3193.143 177.3968
19 4805
43.17036 19.57864
0.445264 0.147716
r r 05 10
a =0.05 0 tograse =2.093 10
150mmHg 10
10
CDC 10 14
CDC
n=56 n=49 T
2.4(2.0) 3.9(2.5) 321"
"'p<0.01

a =0.05 10
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(Coesz =5.99) (10 )
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42
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41
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42

39
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m |0 O W |>

55

41

32

46 39
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ANOVA TABLE (Fo.95:4,35

= 2.65)

40

DF

MS

1225.6

(¢)

(f)

(9)

(a)

(d)

85.314

(b)

(e)

(a)~(9)

(2

)

a =0.05

10,9, 13, 11, 16, 11,14
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95

(2

)

(15 )

(4 ) (togse = 2.447)
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